N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} g an F [%]
s F S S ]
8 g g g
“10°F Lot Lo o
E > =~ g
E £ 8 S10?
F =
10°F 10° 10° 3
10°F 102! 10?
10k 10 10
1 SR EEEEERE PEES B Bt EERRT TR PRE T i
ol INnusNOPU_base
S nusNOPUJetramO\dFiIe51257 2_prelimWPM_epoch4
24 T v v v T 2
0.9
0'—25—20—15—10 -5 0 5 10 15 20 25 0'—25—20—15—10 -5 0 5 10 15 20 25 0'—‘25 20 15 10 5 O 5 10 15 20 25 0'—25—20—15—10 -5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 L 2
Q [=] [5)
g g g
ol ©10° s
: g0
g
10° 310
E 102
10°F
[ 10
10F
o -} L8 N
T T 1.2] = I
chean o i3 ] * * +
- i T ..
I‘Hﬂ;w’*#" ] B 1111} ] 1 *ﬂ”* "# ﬂl : :
-30 20 -10 20 30 °¥Pp 20 -10 0 10 20 30 %55 =20 -10 20 30 5520 —10 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


